2RXS J204404.1+283307

gamm*meka

0057

931251

|

TR R [TTT RN I S B (1T R NN R (1T R AN A A |
7 Y N ?
s & 2 g

(A93 s zwd)/suojoyd
TTTT T T 1 TTT T T T T TTTTT T 1]
TN A TN | IR =

~— a
| |

o o
— —

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

— o (o]
o o o
B
a [+ o} i
T = 05
™ < a
| | |
+ + +
— o — ™
© = &6 o 0o
| | + | |
[c3] [x] 23] =2 23]
™ [+ ] @© < (o]
X ®B = S o
-~ - © wn (ap]
Il
() 1]
-
© — Il
S ] >
o x| < E
g 2 = — 9
n [z, z B z
TT T[T T T[T T T[T
+
+
"
I
- o —
[ -
= %7 —
n — -
AEEEEEEEEEE RN

N o N

s[enpisay

1.00

0.10

11

X2req = 2291

Energy/keV



